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Introduction to aviam myn — wwn 9

Back in the fourth chapter (1:7), we introduced issues of 0?5318 nxmI; the topic was “interrupted” with all the concerns of 123 INY NN, D77 703, AWIT 722
and 25n2 w3, each of which was introduced by an incidental mention in a prior chapter (e.g. 113 nNY 11K was mentioned in 77:7, 077 702 deals, like 11N
12 IRy, with 71787 AR AvNY etc.— and now the mywn “returns” to the topic at hand and completes its survey of PoIIN INDIV 113571

30.9.1
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I ' mwn: difference between 719w for 19218 NRMY and for nY1)

a

b

P22 nemv: even inedible parts of animal count towards nx»1 for D92 NrMY (specific parts explained in X1n3)

i But not: for not for m% 21 nrRMO

ii  Parallel: if a Y87 slaughters a nknv nnna for a non-Jew, it obtains @Y7 NrMY while convulsing (v37an), but not
m>»1) nrMY until it dies or is decapitated

iii  Observation: @928 NRMV is more easily generated than M2 nrMY

558 (explained later) N '7 — if there is a n°1 gathered in one place, he is 2’1 (if he has contact and then enters w7pn)

I Side-door xxv #1: 1MW (peels etc.)

a

11272 DMV are considered part of the essence for N%p kML (i.e. DY2I1® NRMV) but not NN IRMY (e.g. NY2I)
i Source for 75y ANpIY: RN of HRYNW 1 71 — v. 2 indicates the food is as planted — in its husk
it~ Source for 7700 ANPIV: RNI12 — v. 4 — N1 but not its skin (if it has less than Ywa 1 on it)
1 However: touching skin which has meat behind it is Xnv, per "xnv>”
2 Explanation (X27): Rn1 is deficient
(a) Excluded: skin which has less than n’13 of meat behind it and the skin completes the
(b) However: if there is a full n1 of meat behind it, X"70 it isn’t even a nRMVY T2 — Y"np from RNV that it is RNV
N:x pypy:a 1 (handle/access point) but not a 1mw of the food is vulnerable to nkn1v, generates kM but isn’t qoIxn
i And:a-amw, even if not a 1, is XY, ®noVn others and is 470%n (to create a minimal YW for RV — N¥117)
ii ~ And:if it is neither 7 nor 1mv - does none of these
iii ~ Sources for m7: to extend reach of receiving kMY — v. 3 (03%); to extend generation of NRMY — v. 4 (D3Y)
1 9. generating and receiving nkmv is understood via 1"p reasoning from 7; v. 2 (1MW) is mentioned q1%5
2 Challenge: perhaps T only extends to receive, not generate; 1mw also generates but there is no q1x
(a) Answer: generating nRmv is more obvious than receiving it
3 Challenge: perhaps T only extends to generate, not receive; 1mw also generates but there is no q1x
(a) Answer: there is a 2" mention of 7 - v. 1
(b) Question: which of these three is the “extra” mention?
(i) If: the nmn only mentioned 7 in re: seeds (v. 3), wouldn’t have extended to 11n or nYa), as WY1 are
more susceptible to kMY (can even become XNV from NRNIVN T97)
(ii) And if: the nmn only mentioned 7 in re: 11, - R”70 since Mn has 198 NRMY > not seeds nor 521
(iif) And if: only mentioned n%11 (v. 4) Rwn NRMY, DR RNVN & NRMY comes from it >not seeds nor 1N
(iv) Therefore: 1 alone wouldn’t have been enough; perhaps 2 could’ve informed the third:
1. Omit p’yar couldn’t have inferred; as mya1 require NRMYVY 1WIN
a. Challenge: seeds w/o 7w3n::1n which is unfinished (no nxnv either)
b.  Rather: oyt are only 8nvn by touch unlike 7n (air) and n%a1 (xwn)
2. Omit 71217 couldn’t have inferred; as the others are food
3. Omit 7152x. could have inferred 7 of nYa1 is superfluous
a. If: not needed for itself, can be “pushed” to T as a general concept
b.  Therefore: we have 7 for both receiving and generating nrnmv = 1mw is 97x8Y
c. Block: n52x7 7 is needed; else we would have applied 7 to our 1"p and restricted n%a37 7
from generating NRMY to a person (DTR NRMD)
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. Rather: n9137 7 is needed; 791w of nYa3 isn’t needed
e.  Therefore: 1 of %11 can’t be there for g% (which doesn’t work for n%23, per ruling above
regarding skin with less than 9wa n»1); nor for generating or receiving nkmv (inferred from
T via 1"p); must be used for ®nYYT T
i.  Hence: we have an extra “7” = v is needed only for g1y
4. Challenge: why not have it used for Xn%»T 1mv = ©137% 1MW and for Ny, but no VY T
(v) Answerl: 1 is originally written in context of no1n = all is covered
1. Therefore: 1w of N1 is extra, and is written in spite of it being able to be inferred via vp
a. Challenge: why not use this answer (..17p2 ®NRT 8nYn) for regular DMV - that they are
written to extend receiving nkmv, even though they could be inferred via v'p
b. Answer: when we can explain differently, we do (®'nxT 8n%n is a “last resort”)
(vi) Answer2 (X¥22an ”7): 9mw of nYa1 is acting like a 1, we extend it to T (since not needed for itself)
4 Challenge (5xypw? 92 1712 27): %2 PP — the DV of a pomegranate is 970¥n, but not the bud (y1)
(a) Explanation: this is not how pomegranates are planted, yet Dva is considered a 1MW
5  Additional challenge: our mwn, allowing bones etc. to be q7vxn to 8”0 — what is the source?
(a) Rather: v. 2 lists y71 three times
(i) Onmne: for 1w of seeds
(ii) Ome: for 1MW of fruit
(iii) One: for 1MW of eggs, meat and fish
III Dispute 1anv /21 about the extension of 1 for kML 1WIN
a 3771 “works” for nkm, but not for 1wan (i.e. if T gets wet, food is not yet nkmv> 1wN)
b 77 works for both
i Explanation: may be a dispute about interpretation of text (vv. 1-3)
1  Or:may be a dispute in classification of 2wan
(a) Textual interpretation: is a text applied two passages back or only one?
(i) One:v.3 (7wan) only extends back to v. 2 (object itself), not v. 1 (1)
(i) Two: v. 3 ("wan) extends back to v. 1 (1)
(b) Classification: is 7wan the beginning of the nrm process (in which case, a 7» works) or not (doesn’t work)
ii ~ Supporting Nm»772: for 1IN '7’s position:
1 An79xjust as 1 is effective for nRn, it is effective for Twan
(a) And:just as food cannot become &nv until it is uprooted, similarly it cannot become nxmYY W2 until it
is uprooted from the ground
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